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Full Marks : 20
TIME : 45 MINS

Q1.Fill in the blanks. (4)
a)300+0+7=

b)The smallest 3-digit number is =
c)Seven hundred seventy nine =

d) In 261 the place value of 6 is

Q2. Write True or False. (4)

a)8 hundred 3 tens 6 ones is 836. __

b)709 is just before 708.

c)In 258 the face value of 2 is 200. __

d)10 tensis 1ten.

Q3. Arrange in Ascending and Descending order. (3)
a)538; 591; 513

Ascending order - ; ;

b)437; 492; 412

Descending order- ; ;

Q4. Circle the correct answer. (2)
a) The largest 3 digit number is
(i) 100 (i) 1000 (iii)999
b) Nine hundred thirty four is
(i)943 (ii) 934 (i) 933



Q5. Addition. (4)

a) TO (b) HTO
75 540
+14 + 353

Q6. Solve the word problem. (3)

a) A fruit seller has 60 apples and 36 oranges. How many fruits
does he have in all ?



